| LakeCounty Division of Transportation | n | | | | | |
|--|---|---|---|---|---------|---|
| Section Sectio | Stect: Wadsworth Road Storm Sevon: 18-00055-07-SSon: Remove and Replace Storm Pin: B-01402Bote: 2/11/2020 | | ived | | | |
| Bidder Campanella & Sons, Inc. Berger Excavating Contractors Copenhaver Construction | Address 39207 N Magnetics Blvd 1205 Garland Road 75 Koppie Dr. | City, State, Zip Wadsworth, IL 60083 Wauconda, IL 60084 Gilberts, IL 60136 | Bond Bid Bond Bid Bond Bid Bond | | -40.98% | \$ Over/Under Eng. Estimate -\$316,836.40 -\$233,822.71 -\$159,325.27 |
| Engineer's Estimate | | | | \$570,623.65 | | |
| Design | IDOT(2) Bid Tab File | Contract Bidder Resident Eng. | | County Engineer ⁄Igr Capital Prograr | | |
| Construction | Project File | Request By Mail | | igi Capitai i Tograi | | _ |



Return Bid Tabulation

Project: Wadsworth Road Storm Sewer

Section: 18-00055-07-SS

Description: Remove and Replace Storm Sewer

| Item | Day Code | Description | Oventity | Unit | Eng Es | timate | Berger Excavati | ng Contractors | Campanella | & Sons, Inc. | Copenhaver | Construction |
|------|------------|---|----------|-------|-------------|--------------|-----------------|----------------|------------|--------------|-------------|--------------|
| No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 1 | | TREE REMOVAL (6 TO 15 UNITS DIAMETER) | 12.0 | UNIT | \$40.00 | \$480.00 | \$60.00 | \$720.00 | \$250.00 | \$3,000.00 | \$60.00 | \$720.00 |
| 2 | 20101400 | NITROGEN FERTILIZER NUTRIENT | 11.0 | POUND | \$5.00 | \$55.00 | \$1.10 | \$12.10 | \$2.00 | \$22.00 | \$1.00 | \$11.00 |
| 3 | 20101600 | POTASSIUM FERTILIZER NUTRIENT | 11.0 | POUND | \$5.00 | \$55.00 | \$1.10 | \$12.10 | \$2.00 | \$22.00 | \$1.00 | \$11.00 |
| 4 | 20101700 | SUPPLEMENTAL WATERING | 8.0 | UNIT | \$55.00 | \$440.00 | \$50.00 | \$400.00 | \$55.00 | \$440.00 | \$0.01 | \$0.08 |
| 5 | 20200100 | EARTH EXCAVATION | 288.0 | CU YD | \$200.00 | \$57,600.00 | \$60.00 | \$17,280.00 | \$50.02 | \$14,405.76 | \$40.00 | \$11,520.00 |
| 6 | | TRENCH BACKFILL | 37.0 | CU YD | \$120.00 | \$4,440.00 | \$90.00 | \$3,330.00 | \$74.98 | \$2,774.26 | \$39.00 | \$1,443.00 |
| 7 | 21001000 | GEOTECHNICAL FABRIC FOR GROUND STABILIZATION | 351.0 | SQ YD | \$5.00 | \$1,755.00 | \$2.50 | \$877.50 | \$2.00 | \$702.00 | \$2.00 | \$702.00 |
| 8 | 21101615 | TOPSOIL FURNISH AND PLACE, 4" | 559.0 | SQ YD | \$20.00 | \$11,180.00 | \$9.25 | \$5,170.75 | \$6.50 | \$3,633.50 | \$5.00 | \$2,795.00 |
| 9 | 21301052 | EXPLORATION TRENCH 52" DEPTH | 100.0 | FOOT | \$50.00 | \$5,000.00 | \$1.00 | \$100.00 | \$16.10 | \$1,610.00 | \$15.00 | \$1,500.00 |
| 10 | 25000312 | SEEDING, CLASS 4A | 0.1 | ACRE | \$10,000.00 | \$1,000.00 | \$3,400.00 | \$340.00 | \$3,570.00 | \$357.00 | \$15,000.00 | \$1,500.00 |
| 11 | 28000400 | PERIMETER EROSION BARRIER | 873.0 | FOOT | \$10.00 | \$8,730.00 | \$5.00 | \$4,365.00 | \$5.00 | \$4,365.00 | \$3.00 | \$2,619.00 |
| 12 | 28000510 | NLET FILTERS | 7.0 | EACH | \$300.00 | \$2,100.00 | \$225.00 | \$1,575.00 | \$270.00 | \$1,890.00 | \$70.00 | \$490.00 |
| 13 | 35101800 | AGGREGATE BASE COURSE, TYPE B 6" | 37.0 | SQ YD | \$70.00 | \$2,590.00 | \$30.00 | \$1,110.00 | \$32.82 | \$1,214.34 | \$15.00 | \$555.00 |
| 14 | 35102400 | AGGREGATE BASE COURSE, TYPE B 12" | 223.0 | SQ YD | \$80.00 | \$17,840.00 | \$53.50 | \$11,930.50 | \$36.35 | \$8,106.05 | \$16.00 | \$3,568.00 |
| 15 | 40600290 I | BITUMINOUS MATERIALS (TACK COAT) | 779.0 | POUND | \$0.10 | \$77.90 | \$0.01 | \$7.79 | \$0.01 | \$7.79 | \$0.10 | \$77.90 |
| 16 | 40600400 | MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS | 1.0 | TON | \$800.00 | \$800.00 | \$500.00 | \$500.00 | \$525.00 | \$525.00 | \$560.00 | \$560.00 |
| 17 | 40600535 I | LEVELING BINDER (HAND METHOD), N70 | 1.0 | TON | \$1,200.00 | \$1,200.00 | \$500.00 | \$500.00 | \$525.00 | \$525.00 | \$560.00 | \$560.00 |
| 18 | | LEVELING BINDER (MACHINE METHOD), N70 | 29.0 | TON | \$150.00 | \$4,350.00 | \$290.00 | \$8,410.00 | \$304.50 | \$8,830.50 | \$333.00 | \$9,657.00 |
| 19 | | HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70 | 64.0 | TON | \$150.00 | \$9,600.00 | \$250.00 | \$16,000.00 | \$260.95 | \$16,700.80 | \$280.00 | \$17,920.00 |
| 20 | | HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70 | 65.0 | TON | \$150.00 | \$9,750.00 | \$180.00 | \$11,700.00 | \$185.00 | \$12,025.00 | \$200.00 | \$13,000.00 |
| 21 | 42001300 | PROTECTIVE COAT | 153.0 | SQ YD | \$12.00 | \$1,836.00 | \$3.00 | \$459.00 | \$5.80 | \$887.40 | \$3.00 | \$459.00 |
| 22 | 44000158 | HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4" | 531.0 | SQ YD | \$20.00 | \$10,620.00 | \$12.00 | \$6,372.00 | \$9.60 | \$5,097.60 | \$11.00 | \$5,841.00 |
| 23 | 44000300 | CURB REMOVAL | 458.0 | FOOT | \$15.00 | \$6,870.00 | \$7.00 | \$3,206.00 | \$3.31 | \$1,515.98 | \$8.00 | \$3,664.00 |
| 24 | 44201761 | CLASS D PATCHES, TYPE I, 10 INCH | 10.0 | SQ YD | \$100.00 | \$1,000.00 | \$250.00 | \$2,500.00 | \$241.50 | \$2,415.00 | \$280.00 | \$2,800.00 |



Return Bid Tabulation

Project: Wadsworth Road Storm Sewer

Section: 18-00055-07-SS

Description: Remove and Replace Storm Sewer

| Item | D 0 I. | Bernitation | 0 1"1 | | Eng Es | timate | Berger Excavati | ng Contractors | Campanella | & Sons, Inc. | Copenhaver | Construction |
|------|------------|--|----------|-------|-------------|--------------|-----------------|----------------|-------------|--------------|-------------|--------------|
| No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 25 | 44201765 | CLASS D PATCHES, TYPE II, 10 INCH | 15.0 | SQ YD | \$100.00 | \$1,500.00 | \$220.00 | \$3,300.00 | \$199.50 | \$2,992.50 | \$230.00 | \$3,450.00 |
| 26 | 44201769 | CLASS D PATCHES, TYPE III, 10 INCH | 44.0 | SQ YD | \$100.00 | \$4,400.00 | \$165.00 | \$7,260.00 | \$155.25 | \$6,831.00 | \$175.00 | \$7,700.00 |
| 27 | 44201771 | CLASS D PATCHES, TYPE IV, 10 INCH | 30.0 | SQ YD | \$100.00 | \$3,000.00 | \$150.00 | \$4,500.00 | \$136.50 | \$4,095.00 | \$160.00 | \$4,800.00 |
| 28 | 550A0070 | STORM SEWERS, CLASS A, TYPE 1 15" | 44.0 | FOOT | \$300.00 | \$13,200.00 | \$250.00 | \$11,000.00 | \$84.46 | \$3,716.24 | \$100.00 | \$4,400.00 |
| 29 | 550A0090 | STORM SEWERS, CLASS A, TYPE 1 18" | 149.0 | FOOT | \$320.00 | \$47,680.00 | \$155.00 | \$23,095.00 | \$80.94 | \$12,060.06 | \$110.00 | \$16,390.00 |
| 30 | 550A0120 | STORM SEWERS, CLASS A, TYPE 1 24" | 77.0 | FOOT | \$340.00 | \$26,180.00 | \$210.00 | \$16,170.00 | \$80.13 | \$6,170.01 | \$130.00 | \$10,010.00 |
| 31 | 55100700 | STORM SEWER REMOVAL 15" | 43.0 | FOOT | \$100.00 | \$4,300.00 | \$25.00 | \$1,075.00 | \$16.63 | \$715.09 | \$20.00 | \$860.00 |
| 32 | 55100900 | STORM SEWER REMOVAL 18" | 153.0 | FOOT | \$100.00 | \$15,300.00 | \$25.00 | \$3,825.00 | \$11.61 | \$1,776.33 | \$22.00 | \$3,366.00 |
| 33 | 55101200 | STORM SEWER REMOVAL 24" | 77.0 | FOOT | \$100.00 | \$7,700.00 | \$25.00 | \$1,925.00 | \$9.29 | \$715.33 | \$30.00 | \$2,310.00 |
| 34 | 60100905 I | PIPE DRAINS 4" | 200.0 | FOOT | \$50.00 | \$10,000.00 | \$4.00 | \$800.00 | \$10.05 | \$2,010.00 | \$10.00 | \$2,000.00 |
| 35 | 60100915 | PIPE DRAINS 6" | 200.0 | FOOT | \$52.00 | \$10,400.00 | \$6.00 | \$1,200.00 | \$12.05 | \$2,410.00 | \$15.00 | \$3,000.00 |
| 36 | 60108104 | PIPE UNDERDRAIN, TYPE 1, 4" | 400.0 | FOOT | \$40.00 | \$16,000.00 | \$7.00 | \$2,800.00 | \$3.20 | \$1,280.00 | \$10.00 | \$4,000.00 |
| 37 | 60201340 | CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE | 4.0 | EACH | \$7,500.00 | \$30,000.00 | \$3,250.00 | \$13,000.00 | \$3,100.00 | \$12,400.00 | \$3,500.00 | \$14,000.00 |
| 38 | 60218400 I | MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID | 3.0 | EACH | \$8,000.00 | \$24,000.00 | \$4,200.00 | \$12,600.00 | \$3,100.00 | \$9,300.00 | \$3,500.00 | \$10,500.00 |
| 39 | 60500040 | REMOVING MANHOLES | 2.0 | EACH | \$1,000.00 | \$2,000.00 | \$800.00 | \$1,600.00 | \$350.00 | \$700.00 | \$600.00 | \$1,200.00 |
| 40 | 60500050 I | REMOVING CATCH BASINS | 4.0 | EACH | \$1,000.00 | \$4,000.00 | \$650.00 | \$2,600.00 | \$350.00 | \$1,400.00 | \$500.00 | \$2,000.00 |
| 41 | 60605100 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT) | 458.0 | FOOT | \$55.00 | \$25,190.00 | \$40.00 | \$18,320.00 | \$43.60 | \$19,968.80 | \$28.00 | \$12,824.00 |
| 42 | 67100100 I | MOBILIZATION | 1.0 | L SUM | \$33,100.00 | \$33,100.00 | \$34,000.00 | \$34,000.00 | \$23,915.00 | \$23,915.00 | \$46,000.00 | \$46,000.00 |
| 43 | | TEMPORARY PAVEMENT MARKING - LINE 4" | 1,641.0 | FOOT | \$0.75 | \$1,230.75 | \$0.30 | \$492.30 | \$0.50 | \$820.50 | \$1.10 | \$1,805.10 |
| 44 | | TEMPORARY PAVEMENT MARKING - LINE 5" | 1,641.0 | FOOT | \$1.00 | \$1,641.00 | \$0.40 | \$656.40 | \$0.60 | \$984.60 | \$1.30 | \$2,133.30 |
| 45 | 70300904 | PAVEMENT MARKING TAPE, TYPE IV 4 | 41.0 | FOOT | \$10.00 | \$410.00 | \$25.00 | \$1,025.00 | \$2.00 | \$82.00 | \$10.00 | \$410.00 |
| 46 | | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 410.0 | FOOT | \$5.00 | \$2,050.00 | \$3.00 | \$1,230.00 | \$3.20 | \$1,312.00 | \$4.00 | \$1,640.00 |
| 47 | | THERMOPLASTIC PAVEMENT MARKING - LINE 5" | 410.0 | FOOT | \$5.00 | \$2,050.00 | \$3.75 | \$1,537.50 | \$4.00 | \$1,640.00 | \$5.00 | \$2,050.00 |
| 48 | LC200051 I | REJECTED LOAD TRANSPORTATION | 5.0 | LOAD | \$250.00 | \$1,250.00 | \$35.00 | \$175.00 | \$23.00 | \$115.00 | \$100.00 | \$500.00 |



Return Bid Tabulation

Project: Wadsworth Road Storm Sewer

Section: 18-00055-07-SS

Description: Remove and Replace Storm Sewer

| Item | Day Carla | Description | O | Unit | Eng Est | timate | Berger Excavati | ng Contractors | Campanella | & Sons, Inc. | Copenhaver Construction | |
|------|-----------|---|----------|--------|-------------|--------------|-----------------|----------------|-------------|--------------|-------------------------|--------------|
| No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price | Unit Price | Extnd. Price |
| 49 | | MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS | 11,910.0 | UNIT | \$1.00 | \$11,910.00 | \$1.00 | \$11,910.00 | \$1.00 | \$11,910.00 | \$1.00 | \$11,910.00 |
| 50 | X2511630 | EROSION CONTROL BLANKET (SPECIAL) | 559.0 | SQ YD | \$5.00 | \$2,795.00 | \$12.00 | \$6,708.00 | \$8.00 | \$4,472.00 | \$5.00 | \$2,795.00 |
| 51 | X2800500 | INLET PROTECTION, SPECIAL | 7.0 | EACH | \$400.00 | \$2,800.00 | \$250.00 | \$1,750.00 | \$300.00 | \$2,100.00 | \$150.00 | \$1,050.00 |
| 52 | X4401198 | HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH | 159.0 | SQ YD | \$15.00 | \$2,385.00 | \$16.00 | \$2,544.00 | \$14.70 | \$2,337.30 | \$17.00 | \$2,703.00 |
| 53 | | ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED) | 3.0 | CAL MO | \$3,000.00 | \$9,000.00 | \$4,600.00 | \$13,800.00 | \$166.67 | \$500.01 | \$2,000.00 | \$6,000.00 |
| 54 | | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$66,100.00 | \$66,100.00 | \$25,000.00 | \$25,000.00 | \$11,605.00 | \$11,605.00 | \$136,000.00 | \$136,000.00 |
| 55 | X /X10300 | RECESSED REFLECTIVE PAVEMENT MARKER | 5.0 | EACH | \$60.00 | \$300.00 | \$450.00 | \$2,250.00 | \$475.00 | \$2,375.00 | \$500.00 | \$2,500.00 |
| 56 | | GROOVING FOR RECESSED PAVEMENT MARKING 5" | 410.0 | FOOT | \$10.00 | \$4,100.00 | \$2.00 | \$820.00 | \$2.20 | \$902.00 | \$3.00 | \$1,230.00 |
| 57 | | GROOVING FOR RECESSED PAVEMENT MARKING 6" | 410.0 | FOOT | \$10.00 | \$4,100.00 | \$2.50 | \$1,025.00 | \$2.65 | \$1,086.50 | \$4.00 | \$1,640.00 |
| 58 | | WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL | 109.0 | FOOT | \$7.00 | \$763.00 | \$20.00 | \$2,180.00 | \$4.00 | \$436.00 | \$3.00 | \$327.00 |
| 59 | Z0033700 | LONGITUDINAL JOINT SEALANT | 210.0 | FOOT | \$10.00 | \$2,100.00 | \$26.00 | \$5,460.00 | \$25.20 | \$5,292.00 | \$19.00 | \$3,990.00 |
| 60 | Z0062450 | SAWING PAVEMENT (FULL DEPTH) | 458.0 | FOOT | \$40.00 | \$18,320.00 | \$5.00 | \$2,290.00 | \$5.00 | \$2,290.00 | \$4.00 | \$1,832.00 |
| | | Bid Total | | | | \$570,623.65 | | \$336,800.94 | | \$253,787.25 | | \$411,298.38 |



Project: Wadsworth Road Storm Sewer

Section: 18-00055-07-SS

Description: Remove and Replace Storm Sewer

| Item | Davido de | D ecordados | 0 | 1114 | Eng Es | stimate | Min. Bid | Max. Bid | Avg. Bid |
|------|-----------|--|----------|-------|-------------|--------------|------------|-------------|------------|
| No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Price | Price | Price |
| | | | | | | | | | |
| 1 | 20100110 | TREE REMOVAL (6 TO 15 UNITS DIAMETER) | 12.0 | UNIT | \$40.00 | \$480.00 | \$60.00 | \$250.00 | \$123.33 |
| 2 | 20101400 | NITROGEN FERTILIZER NUTRIENT | 11.0 | POUND | \$5.00 | \$55.00 | \$1.00 | \$2.00 | \$1.37 |
| 3 | 20101600 | POTASSIUM FERTILIZER NUTRIENT | 11.0 | POUND | \$5.00 | \$55.00 | \$1.00 | \$2.00 | \$1.37 |
| 4 | 20101700 | SUPPLEMENTAL WATERING | 8.0 | UNIT | \$55.00 | \$440.00 | \$0.01 | \$55.00 | \$35.00 |
| 5 | 20200100 | EARTH EXCAVATION | 288.0 | CU YD | \$200.00 | \$57,600.00 | \$40.00 | \$60.00 | \$50.01 |
| 6 | 20800150 | TRENCH BACKFILL | 37.0 | CU YD | \$120.00 | \$4,440.00 | \$39.00 | \$90.00 | \$67.99 |
| 7 | 21001000 | GEOTECHNICAL FABRIC FOR GROUND STABILIZATION | 351.0 | SQ YD | \$5.00 | \$1,755.00 | \$2.00 | \$2.50 | \$2.17 |
| 8 | 21101615 | TOPSOIL FURNISH AND PLACE, 4" | 559.0 | SQ YD | \$20.00 | \$11,180.00 | \$5.00 | \$9.25 | \$6.92 |
| 9 | 21301052 | EXPLORATION TRENCH 52" DEPTH | 100.0 | FOOT | \$50.00 | \$5,000.00 | \$1.00 | \$16.10 | \$10.70 |
| 10 | 25000312 | SEEDING, CLASS 4A | 0.1 | ACRE | \$10,000.00 | \$1,000.00 | \$3,400.00 | \$15,000.00 | \$7,323.33 |
| 11 | 28000400 | PERIMETER EROSION BARRIER | 873.0 | FOOT | \$10.00 | \$8,730.00 | \$3.00 | \$5.00 | \$4.33 |
| 12 | 28000510 | INLET FILTERS | 7.0 | EACH | \$300.00 | \$2,100.00 | \$70.00 | \$270.00 | \$188.33 |
| 13 | 35101800 | AGGREGATE BASE COURSE, TYPE B 6" | 37.0 | SQ YD | \$70.00 | \$2,590.00 | \$15.00 | \$32.82 | \$25.94 |
| 14 | 35102400 | AGGREGATE BASE COURSE, TYPE B 12" | 223.0 | SQ YD | \$80.00 | \$17,840.00 | \$16.00 | \$53.50 | \$35.28 |



Project: Wadsworth Road Storm Sewer

Section: 18-00055-07-SS

Description: Remove and Replace Storm Sewer

| Item | Day Cada | Description | Overstitus | l læi4 | Eng Es | stimate | Min. Bid | Max. Bid | Avg. Bid |
|------|----------|---|------------|--------|------------|--------------|----------|----------|----------|
| No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Price | Price | Price |
| 15 | 40600290 | BITUMINOUS MATERIALS (TACK COAT) | 779.0 | POUND | \$0.10 | \$77.90 | \$0.01 | \$0.10 | \$0.04 |
| 16 | 40600400 | MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS | 1.0 | TON | \$800.00 | \$800.00 | \$500.00 | \$560.00 | \$528.33 |
| 17 | 40600535 | LEVELING BINDER (HAND METHOD), N70 | 1.0 | TON | \$1,200.00 | \$1,200.00 | \$500.00 | \$560.00 | \$528.33 |
| 18 | 40600635 | LEVELING BINDER (MACHINE METHOD), N70 | 29.0 | TON | \$150.00 | \$4,350.00 | \$290.00 | \$333.00 | \$309.17 |
| 19 | 40603085 | HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70 | 64.0 | TON | \$150.00 | \$9,600.00 | \$250.00 | \$280.00 | \$263.65 |
| 20 | 40603340 | HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70 | 65.0 | TON | \$150.00 | \$9,750.00 | \$180.00 | \$200.00 | \$188.33 |
| 21 | 42001300 | PROTECTIVE COAT | 153.0 | SQ YD | \$12.00 | \$1,836.00 | \$3.00 | \$5.80 | \$3.93 |
| 22 | 44000158 | HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4" | 531.0 | SQ YD | \$20.00 | \$10,620.00 | \$9.60 | \$12.00 | \$10.87 |
| 23 | 44000300 | CURB REMOVAL | 458.0 | FOOT | \$15.00 | \$6,870.00 | \$3.31 | \$8.00 | \$6.10 |
| 24 | 44201761 | CLASS D PATCHES, TYPE I, 10 INCH | 10.0 | SQ YD | \$100.00 | \$1,000.00 | \$241.50 | \$280.00 | \$257.17 |
| 25 | 44201765 | CLASS D PATCHES, TYPE II, 10 INCH | 15.0 | SQ YD | \$100.00 | \$1,500.00 | \$199.50 | \$230.00 | \$216.50 |
| 26 | 44201769 | CLASS D PATCHES, TYPE III, 10 INCH | 44.0 | SQ YD | \$100.00 | \$4,400.00 | \$155.25 | \$175.00 | \$165.08 |
| 27 | 44201771 | CLASS D PATCHES, TYPE IV, 10 INCH | 30.0 | SQ YD | \$100.00 | \$3,000.00 | \$136.50 | \$160.00 | \$148.83 |



Project: Wadsworth Road Storm Sewer

Section: 18-00055-07-SS

Description: Remove and Replace Storm Sewer

| Item | Pay Code | Description | Quantity | Unit | Eng Es | stimate | Min. Bid | Max. Bid | Avg. Bid | |
|------|----------|--|----------|-------|------------|--------------|------------|------------|------------|--|
| No. | Fay Code | Description | Quantity | Offic | Unit Price | Extnd. Price | Price | Price | Price | |
| 28 | 550A0070 | STORM SEWERS, CLASS A, TYPE 1 15" | 44.0 | FOOT | \$300.00 | \$13,200.00 | \$84.46 | \$250.00 | \$144.82 | |
| 29 | 550A0090 | STORM SEWERS, CLASS A, TYPE 1 18" | 149.0 | FOOT | \$320.00 | \$47,680.00 | \$80.94 | \$155.00 | \$115.31 | |
| 30 | 550A0120 | STORM SEWERS, CLASS A, TYPE 1 24" | 77.0 | FOOT | \$340.00 | \$26,180.00 | \$80.13 | \$210.00 | \$140.04 | |
| 31 | 55100700 | STORM SEWER REMOVAL 15" | 43.0 | FOOT | \$100.00 | \$4,300.00 | \$16.63 | \$25.00 | \$20.54 | |
| 32 | 55100900 | STORM SEWER REMOVAL 18" | 153.0 | FOOT | \$100.00 | \$15,300.00 | \$11.61 | \$25.00 | \$19.54 | |
| 33 | 55101200 | STORM SEWER REMOVAL 24" | 77.0 | FOOT | \$100.00 | \$7,700.00 | \$9.29 | \$30.00 | \$21.43 | |
| 34 | 60100905 | PIPE DRAINS 4" | 200.0 | FOOT | \$50.00 | \$10,000.00 | \$4.00 | \$10.05 | \$8.02 | |
| 35 | 60100915 | PIPE DRAINS 6" | 200.0 | FOOT | \$52.00 | \$10,400.00 | \$6.00 | \$15.00 | \$11.02 | |
| 36 | 60108104 | PIPE UNDERDRAIN, TYPE 1, 4" | 400.0 | FOOT | \$40.00 | \$16,000.00 | \$3.20 | \$10.00 | \$6.73 | |
| 37 | 60201340 | CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE | 4.0 | EACH | \$7,500.00 | \$30,000.00 | \$3,100.00 | \$3,500.00 | \$3,283.33 | |
| 38 | 60218400 | MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID | 3.0 | EACH | \$8,000.00 | \$24,000.00 | \$3,100.00 | \$4,200.00 | \$3,600.00 | |
| 39 | 60500040 | REMOVING MANHOLES | 2.0 | EACH | \$1,000.00 | \$2,000.00 | \$350.00 | \$800.00 | \$583.33 | |
| 40 | 60500050 | REMOVING CATCH BASINS | 4.0 | EACH | \$1,000.00 | \$4,000.00 | \$350.00 | \$650.00 | \$500.00 | |
| 41 | 60605100 | COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT) | 458.0 | FOOT | \$55.00 | \$25,190.00 | \$28.00 | \$43.60 | \$37.20 | |



Project: Wadsworth Road Storm Sewer

Section: 18-00055-07-SS

Description: Remove and Replace Storm Sewer

| Item | Day Cada | Description | Overstitus | l lm:4 | Eng Es | stimate | Min. Bid | Max. Bid | Avg. Bid |
|------|----------|---|------------|--------|-------------|--------------|-------------|-------------|-------------|
| No. | Pay Code | Description | Quantity | Unit | Unit Price | Extnd. Price | Price | Price | Price |
| 42 | 67100100 | MOBILIZATION | 1.0 | L SUM | \$33,100.00 | \$33,100.00 | \$23,915.00 | \$46,000.00 | \$34,638.33 |
| 43 | 70300220 | TEMPORARY PAVEMENT MARKING - LINE 4" | 1,641.0 | FOOT | \$0.75 | \$1,230.75 | \$0.30 | \$1.10 | \$0.63 |
| 44 | 70300230 | TEMPORARY PAVEMENT MARKING - LINE 5" | 1,641.0 | FOOT | \$1.00 | \$1,641.00 | \$0.40 | \$1.30 | \$0.77 |
| 45 | 70300904 | PAVEMENT MARKING TAPE, TYPE IV 4 | 41.0 | FOOT | \$10.00 | \$410.00 | \$2.00 | \$25.00 | \$12.33 |
| 46 | 78000200 | THERMOPLASTIC PAVEMENT MARKING - LINE 4" | 410.0 | FOOT | \$5.00 | \$2,050.00 | \$3.00 | \$4.00 | \$3.40 |
| 47 | 78000300 | THERMOPLASTIC PAVEMENT MARKING - LINE 5" | 410.0 | FOOT | \$5.00 | \$2,050.00 | \$3.75 | \$5.00 | \$4.25 |
| 48 | LC200051 | REJECTED LOAD TRANSPORTATION | 5.0 | LOAD | \$250.00 | \$1,250.00 | \$23.00 | \$100.00 | \$52.67 |
| 49 | LC200501 | MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS | 11,910.0 | UNIT | \$1.00 | \$11,910.00 | \$1.00 | \$1.00 | \$1.00 |
| 50 | X2511630 | EROSION CONTROL BLANKET (SPECIAL) | 559.0 | SQ YD | \$5.00 | \$2,795.00 | \$5.00 | \$12.00 | \$8.33 |
| 51 | X2800500 | INLET PROTECTION, SPECIAL | 7.0 | EACH | \$400.00 | \$2,800.00 | \$150.00 | \$300.00 | \$233.33 |
| 52 | X4401198 | HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH | 159.0 | SQ YD | \$15.00 | \$2,385.00 | \$14.70 | \$17.00 | \$15.90 |
| 53 | X6700405 | ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED) | 3.0 | CAL MO | \$3,000.00 | \$9,000.00 | \$166.67 | \$4,600.00 | \$2,255.56 |



Project: Wadsworth Road Storm Sewer

Section: 18-00055-07-SS

Description: Remove and Replace Storm Sewer

| Item | Pay Code | Description | Quantity | Unit | Eng Es | stimate | Min. Bid | Max. Bid | Avg. Bid | |
|------|----------|--|-----------|-------|-------------|--------------|-------------|--------------|-------------|--|
| No. | Pay Code | Description | Qualitity | Onit | Unit Price | Extnd. Price | Price | Price | Price | |
| 54 | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL) | 1.0 | L SUM | \$66,100.00 | \$66,100.00 | \$11,605.00 | \$136,000.00 | \$57,535.00 | |
| 55 | X7810300 | RECESSED REFLECTIVE PAVEMENT MARKER | 5.0 | EACH | \$60.00 | \$300.00 | \$450.00 | \$500.00 | \$475.00 | |
| 56 | X7830070 | GROOVING FOR RECESSED PAVEMENT MARKING 5" | 410.0 | FOOT | \$10.00 | \$4,100.00 | \$2.00 | \$3.00 | \$2.40 | |
| 57 | X7830072 | GROOVING FOR RECESSED PAVEMENT MARKING 6" | 410.0 | FOOT | \$10.00 | \$4,100.00 | \$2.50 | \$4.00 | \$3.05 | |
| 58 | XX003168 | WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL | 109.0 | FOOT | \$7.00 | \$763.00 | \$3.00 | \$20.00 | \$9.00 | |
| 59 | Z0033700 | LONGITUDINAL JOINT SEALANT | 210.0 | FOOT | \$10.00 | \$2,100.00 | \$4.00 | \$5.00 | \$4.67 | |
| 60 | Z0062450 | SAWING PAVEMENT (FULL DEPTH) | 458.0 | FOOT | \$40.00 | \$18,320.00 | \$19.00 | \$26.00 | \$23.40 | |
| | | Bid Total | | | | \$570,623.65 | | | | |